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1. Find the simple interest, to the nearest penny, on £487 10y, ﬁ.
for 17 years at 1§9%, per annum. B
(16 marks]

9. Fill in the blanks in the following bill. You need not copy &
pill into your answer-book, but give your angwers under the headiy

(@), (B), (), ().

| & -'(:l, IF
(a) 8 loaves at each .. o S 10-”
(b) }-stone oatmeal at Js. 10d. per stone ' '_
(c) Ibs. butter at 1s. 4d. per lb. 5 3 4 .
| (@) lbs. rashers at 1s. 5d. per Ib. . |
| 3
Toral .. oo |1
|
[16 marks]

3. Find what percentage 13} times £84 Ts. 6d. is of 27 W

£67 10=. 0d.

16 Lu.u-rkﬁ'-f

4. A poultry-run consists of a rectangular plot of ground, len
1 44 yards and area § acre. Tt is enclosed by wire netting 10 feebH
il attached to vertical poles along each side. Find the cost of the no

|l ab 13d. per square foot. E
(16 markeds
1
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aw & graph to show the percentage mark obtained by any
te in an examination for which the maximum mark is 400,
from your graph the percentage mark obtained by a candidate
t 285 marks, and the mark obtammed by another who scored

[16 marks.]

oW many times can pieces of ribbon each i yard long
from a roll 30 metres long ? What length of ribbon is left

{17 marks.]

ote the day and date on your examination paper. On what
‘the week will next Christmas day fall? What is the next
en it will again fall on the same day ?

{17 marks.]

square is inscribed in a cirele. Express to two decimal places
0 of:

the area of the square to the area of the circle.
the perimeter of the square to the circumference of the cirele,

[17 marks.]

00 A housekeeper received the following amounts during a year :

ho £ a.d. Eoow d €0 8a0d.
g 18 17 4 May 1§ 11 3 Sept... 1716 8
' 178710 e, oot 4 UBTE Gebs o) 196100 b
B 1912 9 July .. 20 6 6 Nov... 18 810
) 1804 6. Aggl .- 18172 Des; o 10718 2

b5 = g

le saved 2s, 74d. in each £1, how much did she save in the year ?

[17 marks.]



